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QUESTION 1

Some tools are geared more for developer use. For the 5 tools listed, which statement BEST details those for
developers

i) Performance testing tools. ii) Coverage measurement tools. iii) Test comparators. iv) Dynamic analysis tools. v)
Incident management tools.

A. i, iii. and iv. are more for developers.
B. ii. and iv. are more for developers.
C. i, iii. and iv. are more for developers.
D. ii. and iii. are more for developers.

Correct Answer: B

QUESTION 2

Which of the following is MOST important in the selection of a test approach?
A. Availability of tools to support the proposed techniques.

B. The budget allowed for training in proposed techniques.

C. Available skills and experience in the proposed techniques.

D. The willingness of the test team to learn new techniques.

Correct Answer: C

QUESTION 3

Which of the following would you NOT usually find on a software incident report?
A. The name and/or organisational position of the person raising the problem.

B. Version of the Software Under Test.

C. Suggestions as to how to fix the problem.

D. Actual and expected results.

Correct Answer: C

QUESTION 4

Which of the following activities should be performed during the selection and implementation of a testing tool? i)
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Investigate the organisation test process.

i) Investigate the organisation\\'s test process.

ii) Conduct a proof of concept.

ii) Implement the selected tool on a project behind schedule to save time.

iv) Identify coaching and mentoring requirements for the use of the selected tool.

AL, i, i
B. ii, iii, iv.
C. i, iii, iv.
D. i, ii, iv.

Correct Answer: D

QUESTION 5

Given the following decision table: Which of the following test cases and expected results is VALID?

Rule 1 Rule 2 Rule 3 Rule 4
Conditions
Age <21 21- 30 — =50
s 29 yrs alyrs YIS
Insurance A AorB B, C CorD
Class or O
Actions
Premium £100 £90 £70 £70
Excess £2 500 £2.500 £500 £1,000

A. 23 year old in insurance class A Premium is 0 and excess is ,500.
B. 51 year old in insurance class C Premium is 0 and excess is 00.
C. 31 year old in insurance class B Premium is 0 and excess is ,500.

D. 43 year old in insurance class C Premium is 0 and excess is ,000.
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Correct Answer: A
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